# CLAIM FOR ACTUAL MOVING EXPENSES

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	人用学		Print or	Type All Information		
1 Name of Clammon(s)				Parcel No: 28 (Business)	County: Williamson	
Jacqueso Enterprises				Project: Southeast Loop Phase 2		
	X Business		Farm	□ Nonprofit □ S	ign 🗌 Other	
2. Address of Property Acquires 1355 CR 137 Hutto, Texas 78634 Claimant's Telephone No. 3 Claimant's Email: b	d by Willia	anson Com	nty:	3. Address Moved To:	- C	
4 Character of Property Acon	roal ba-Wi	fliomenn C	ounts:	5. Distance Moved: Miles &		
From (Date): 01-01-2015				7. Mover's Name and Address Heavenly Moving & Storage		
Оwnen/Оссира	mi 🔯	Tissiant		9311 N. FM 620, Suite 300		
6. Controlling Dates	Mo.	Day	Yr.	Ausin, Texas 78726 512-340-0551		
a. I'ust Offer in Negotiation	97	18	2022	9. Amount of Claim:	\$15,125,20	
<ul> <li>b. Date Property Acquired</li> </ul>		24.		a. Moving Expenses	313,125.20	
c. Date Required to Move	1			h. Reedablehment Expenses	5	
Property Storage (attach explanation)     From (Date): N/A To (Date of Move): N/A				c. Searching Expenses	S	
Phoe Stored (Name and Addres	25 J.			d. Tangible Property Loss	s	
N/A				e. Storage	s	
10. Temporary Lodging (attach explanation) From (Date): N/A To (Date of Move): N/A				f. Temporary Lodeins g. Total Amount	3 \$15,125.20	
not submitted any other claim for, of from any other scores for any item Block 3, above, in accordance with true and correct.	of expense of	mid persuan	nt for, an ite	ore supported by attached receipts. Pay of this m of expense in this claim, and that I will p in. I further earlify that all property was one erms of the move and that all information su	of sociept reinshit/sement or compensation well and installed at the address shown in	
•	Clainsant	1744	tradition of an	A STATE OF THE STA		
				Completed by Williamson County		
	All items are			ton attached herewith and have found it to be sary reasonable sespenses and this claim is re Relegation Agent		
			<u>(</u>	Cynthia Long Cynthia Long (Dec 6, 2022 16:44 CST)		
Date				Williamson Count	vC6m m issi6mi	



Heavenly Moving & Storage - (512) 340-0551 9311 N FM 620 Suite 300 Austin, TX 78726

**BILLED TO:** 

Bill Jacaruso & Brandy Darmond

INVOICE DATE:

10/5/2022

INVOICE AMOUNT:

\$15,125.20

PAID

escription	Qty	Unit Price	Amount
Moving and Packing Services (Hourly)	17h 30m	\$615.00	\$10,762.50
flaterials			
Subble Wrap	2	\$27.50	\$55.00
ish Pack	20	\$3.99	\$79.80
ust Cover King	1	\$12.99	\$12.99
ust Cover Queen/Full	- 1	\$12.49	\$12.49
arge Box	30	\$2.95	\$88.50
edium Box	30	\$2.59	\$77.70
rror Carton	80	\$1.95	\$156.00
acking Paper	3	\$24.00	\$72.00
per Pads	15	\$1.89	\$28.35
per Pads	15	\$1.89	\$28.35
aling Tape	24	\$3.25	\$78.00
nall Box	75	\$2.09	\$156.75
retch Wrap	5	\$19.99	\$99.95
Box (Included)	3		-
luation: Gold Plan			\$179.00
p Fee (48.94 miles)			\$1,462.00
		Subtotal	\$13,349.38
		Tax 8.25 %	\$78.04
		CC Fees	\$365.04
		Tips	\$1,332.74
		Payments	(\$15,125.20)
		Balance	\$0.00

Payment methods accepted: Cash, Debit, Credit, Check.

**Payments** 

**\$100.00** was paid on 9/1/2022 by MasterCard card ending in 0952. **\$15,025.20** was paid on 10/5/2022 by MasterCard card ending in 0952.

Varified Paid

Danny Jackson

Call us anytime 512-340-0551 SIGN



Quote #10946 Nor Booked

# Your Move Estimate

Starting on December 12, 2022 Artival window 9a - 9.30a

\$16.600.23

Citize (>2000 SEF)

Estabaled 23hr, 4hr manmuni

Estimate for a Indok & Bion w. Non-Binding Estimate

Manager

Anna Alba

anna@heavenlymove.com

512-340-0551

Your Info

Bill Jacaruso & Brandy Darmond

Origin

1353 Co Rd 137 Hutto, TX 78634

Commercial - O flights of stairs

31mi

Destination

Austin, TX 78734

House • 0 flights of stairs

### What's Included?

· Furniture disassembly and reassembly (we bring the tools)

8/2/22, 4:37 PM

Estimate Summary

- Unloading and unwrapping everything in your new home
- · 26' truck(s) including the driver, fuel, and mileage
- TV moving boxes at no extra charge (up to 72")
- Great attitudes, strong workers, and friendly smiles

# Why Heavenly?

- Rated 4.9/5 stars in over 1,000 customer reviews
- Best Places to Work 2021 and 2022
- Locally owned small business since 2005

Super Important Note: you do NOT have this date reserved until you've paid your deposit and received a booking confirmation via email.

### Notes

All-inclusive full service pack and move.

Your estimate includes extra packing materials BUT you will only pay for materials we actually use. You will not be charged for unused materials.

Day 1 (Dec 12) 1st take over customers office desk & chair. Pack start wrap/load preparations.

Day 2 (Dec 13) Load all trucks and Unload 1 truck.

Day 3 (Dec 14) Unload remaining & unpack kitchen/ bathroom and a few other misc. items.

Estimate is for 10 hours of moving labor and 13 hours of packing/unpacking labor.

Job / Activity Schedule

# Moving And Packing

12/12/2022 - 12/14/2022 (Arriving: 9a - 9:30a)

Moving And Packing (Estimated 23h, 4h minimum)

\$14,145,00

\$615.00/hr

Trip Fee

\$1,462.00

62.61 miles

Materials (View Details)

\$917.53

#### Attachments









## Important Information About Your Move

- This is an ESTIMATE final charges may change based on hours and services provided
- Deposits are refundable upon cancellation/rescheduling only with at least 7 days notice
- Storage facility visits are by appointment only from Mon-Fri, 9am-4pm

### Damages Policy and Additional Protection

Carrier Liability: a household goods carrier's liability for loss or damage of any shipment is \$0.60 per pound per article unless the carrier and the shipper agree in writing to a greater level of liability.

# Need more protection for your move?

Plan	Cost	<b>Protection Amount</b>	Deductible
Silver	Included	\$0.60 per pound	\$0
I Gold I	\$179	\$2 per pound	\$0
Platinum	\$299	\$4 per pound	\$0

Most customers choose the Gold Plan 2

### **Customer Reviews**

My wife told me she booked this place because the name was "Heavenly" and she would never describe a move using that word. These guys accepted the challenge. Both she and I were very satisfied with the service we received from Eddie, Juan and Kevin. They called 30 minutes prior to arrival. We did the majority of the packing before the move, but they wrapped our furniture & tv's so

8/2/22, 4:37 PM Estimate Summary

nothing would get scratched. They also disassembled our beds & covered the mattresses. When we arrived at our new home, they put everything where we wanted it and reassembled our beds for us. Being able to immediately get to unpacking and not having to worry about reassembling the beds meant one less thing we had to do - and it was greatly appreciated! 5 star service, a great group of guys! - Jacob Matson

Andrew, Cameron, and Maurice literally just left and I'm so impressed with how efficient and quick they were. I had done research and called several different movers and ultimately chose them because of their rate and their Facebook page gave me peace of mind. I've never used movers before so I wasn't sure what to expect, but I was blown away by how quickly they moved. They wrapped and secured EVERYTHING. They ended up moving a 2 bedroom second floor apartment in about 2 hours. WOULD 1000% RECOMMEND! - Meressa Mobiley

I got Heavenly Moving as a recommendation from my wonderful realtor, Margaret Jolly, of Sotheby's Realty here in the Austin area. This was not a usual move, nor an easy one. I had a few antique furniture pieces and accessories, and one very large Hall Mirror, which was literally like moving a wall. The place I moved to was on the second story of an historic building where the "second story" was three flights up, required a long transit to the elevator - a small, antique freight elevator which required a certain expertise to operate. The movers, Chris, Adrian, and Joshua, were very professional, and called for extra help where it was needed. Everyone that I dealt with was very responsive, and I am extremely happy with my move. A number of friends had volunteered to help with what everyone thought was going to be difficult; to keep an eye out to assist with the elevator and gates, but we all ended up sitting down and chatting, while the crew handled the difficulties, and came to me with any questions. I would definitely recommend Heavenly Moving to anyone. - Judith Pyeatt Grissom

009017587C

Powered by SmartMoving

# CERTIFICATION OF ELIGIBILITY

Project: Southeast Parcel: 28			2		
Displacee: Jacarus	Enter	rprises			
Individuals, Fa	milies and	Unincorporate	ed Businesses or Fa	rming O	perations
I certify that myself and any are either:	y other party	ty(ies) with a fin	ancial interest in this	s relocatio	on assistance claim
	Citize	zens or Nationals	of the United States	S	
	Alien	ns lawfully pres	r ent in the United Sta	tes	
* If an Alien lawfully prese	ent in the Ur	nited States, sur	porting documentat	ion will b	e required.
				Date:	
Claimant					
				Date:	
Claimant					
Inco	rporated B	Business, Farm	or Nonprofit Organ	nizations	
I certify that I have signatu applicable state's laws and					
1./12	7			Data	7/15/22
Claimant	1	Manager		Date.	1777
U					